alliedforklifts.com.au

FORKLIFTS

Tax Invoice

eol

ABN 66 060 256 377

Repair Invoice No. 1236298 Date

29/08/18

Make Model Serial Number Engine Hours Next Service Due Plant ID

Date	Product	Qty	Description	Unit Price	Total (ex)	GST	Total
10/05/2018	0890085500	3	WD40	\$14.10	\$42.30	\$4.23	\$46.53
06/03/2018	3699094	1	Washer system	\$501.46	\$501.46	\$50.15	\$551.61
06/03/2018	TS-0301-112	0 1	Turbo smart - E B/HP	\$948.78	\$948.78	\$94.88	\$1,043.66
10/05/2018	Sublet	1	Tridon Thread File Med	\$64.04	\$64.04	\$6.40	\$70.44
24/08/2018	TTH	1	Tilt Tray Transport - MIgco to 13	\$160.00	\$160.00	\$16.00	\$176.00
24/07/2018	TTH	1	Tilt Tray Transport - 13 to Migco	\$160.00	\$160.00	\$16.00	\$176.00
06/03/2018	1300558	2	Tilt Pin Bush	\$160.00	\$320.00	\$32.00	\$352.00
06/03/2018	3666736	20	Thrust washer	\$37.70	\$754.00	\$75.40	\$829.40
06/03/2018	3666733	2	Thrust washer	\$469.56	\$939.12	\$93.91	\$1,033.03
06/03/2018	3666727	2	Thrust ring	\$187.60	\$375.20	\$37.52	\$412.72
21/08/2018	Sublet	1	Supply dogman	\$198.00	\$198.00	\$19.80	\$217.80
21/08/2018	Sublet	1	Supply 50t Crane to install Mast	\$770.00	\$770.00	\$77.00	\$847.00
10/05/2018	Sublet	1	Sundry	\$13.20	\$13.20	\$1.32	\$14.52
10/05/2018	124TA1744	1	Strobe Light	\$44.00	\$44.00	\$4.40	\$48.40
0/05/2018	40001613	1	Spring, Hydraulic Tank	\$85.64	\$85.64	\$8.56	\$94.20
0/05/2018	Sublet	1	Spring	\$31.40	\$31.40	\$3.14	\$34.54
10/05/2018	SSG-016BL	1	Spiral Safety Guard 16mm O.D	\$8.40	\$8.40	\$0.84	\$9.24

1229623

Onsite transport machine to Allied forklifts workshop, Complete refurbish, carryout full workshop inspection, report faults listed. Remove wheel & planetary's inspect brake friction plates, all ok. Replace Duro cons, seals worn bearings. Reseal hand brake assembly & fit new pads, Replace damaged hydraulic hoses recommend by hose right. Perform major engine, transmission service. refurbish lift cylinders. Complete a hydraulic oil strain, top up hydraulic oil, Remove steer wheels, clean inspect rear bearings repack, Replace door latches, remove windows to repair rust in cab, clean windows tint windows. Full respray of machine & mast, Re- sticker mine spec decals. Fit mast test all functions all ok. Demob machine for transport. Wormald system back into standard. It requires a LVL II + 5 yearly service and discharge test, the cylinder needs to be pressure tested. blasted and painted as it is out of date and LOP tube needs to be replaced. The discharge hose and

BSB	Thank you for your business		
Bank	TOTAL (inc. GST)	\$97,356.89	
Account Name Account Number	Total GST	\$8,850.63	
Please pay in 7 days to;	Sub Total	\$88,506.26	

_

alliedforklifts.com.au

FORKLIFTS

Tax Invoice

e0

ABN 66 060 256 377

Repair Invoice No. 1236298 Date

29/08/18

Make Model Serial Number Engine Hours Next Service Due Plant ID

Date	Product	Qty	Description	Unit Price	Total (ex)	GST	Total
06/03/2018	3666677	2	Spacer Ring	\$980.90	\$1,961.80	\$196.18	\$2,157.98
10/05/2018	FS19732	1	Seperator Filter (R80D)	\$148.00	\$148.00	\$14.80	\$162.80
06/03/2018	3681494	2	Seals - Brake system	\$722.60	\$1,445.20	\$144.52	\$1,589.72
06/03/2018	3666797	1	Seal kit	\$541.33	\$541.33	\$54.13	\$595.46
10/05/2018	3666696	6	Seal	\$2.80	\$16.80	\$1.68	\$18.48
10/05/2018	Sublet	1	Rubber Mount Kit, Headlight	\$565.28	\$565.28	\$56.53	\$621.81
10/05/2018	0890200	1	Rost-Off Plus rust remover - PENTOIL-300ML	\$17.42	\$17.42	\$1.74	\$19.16
06/03/2018	Sublet	1	Refurbish Hydraulic hoses	\$7,500.00	\$7,500.00	\$750.00	\$8,250.00
06/03/2018	Coolant	30	Radiator Coolant	\$7.30	\$219.00	\$21.90	\$240.90
10/05/2018	Sublet	1	Radiator Cap, Mine Spec	\$16.02	\$16.02	\$1.60	\$17.62
06/03/2018	Sublet	1	R/F Windows, tint	\$780.50	\$780.50	\$78.05	\$858.55
10/05/2018	P158324	1	Precleaner Bowl - Donaldson	\$136.80	\$136.80	\$13.68	\$150.48
06/03/2018	3666683	2	Piston	\$4,533.50	\$9,067.00	\$906.70	\$9,973.70
29/08/2018	033	8	Painter - Hernanie Basquina	\$124.00	\$992.00	\$99.20	\$1,091.20
27/08/2018	033	7.5	Painter - Hernanie Basquina	\$124.00	\$930.00	\$93.00	\$1,023.00
18/06/2018	033	3	Painter - Hernanie Basquina	\$124.00	\$372.00	\$37.20	\$409.20
29/06/2018	033	2.5	Painter - Hernanie Basquina	\$124.00	\$310.00	\$31.00	\$341.00

1229623

Onsite transport machine to Allied forklifts workshop, Complete refurbish, carryout full workshop inspection, report faults listed. Remove wheel & planetary's inspect brake friction plates, all ok. Replace Duro cons, seals worn bearings. Reseal hand brake assembly & fit new pads, Replace damaged hydraulic hoses recommend by hose right. Perform major engine, transmission service. refurbish lift cylinders. Complete a hydraulic oil strain, top up hydraulic oil, Remove steer wheels, clean inspect rear bearings repack, Replace door latches, remove windows to repair rust in cab, clean windows tint windows. Full respray of machine & mast, Re- sticker mine spec decals. Fit mast test all functions all ok. Demob machine for transport. Wormald system back into standard. It requires a LVL II + 5 yearly service and discharge test, the cylinder needs to be pressure tested. blasted and painted as it is out of date and LOP tube needs to be replaced. The discharge hose and

	TAYLOR-DUNN		
Bank	TOTAL (inc. GST) \$97,356.89	
Account Name Account Number	Total GST	\$8,850.63	
Please pay in 7 days to;	Sub Total	\$88,506.26	

alliedforklifts.com.au

FORKLIFTS

Tax Invoice

led

ABN 66 060 256 377

Repair Invoice No. 1236298 Date

29/08/18

Make Model Serial Number Engine Hours Next Service Due Plant ID

Date	Product	Qty	Description	Unit Price	Total (ex)	GST	Total
30/07/2018	033	8.5	Painter - Hernanie Basquina	\$124.00	\$1,054.00	\$105.40	\$1,159.40
25/06/2018	033	7.5	Painter - Hernanie Basquina	\$124.00	\$930.00	\$93.00	\$1,023.00
24/08/2018	033	4	Painter - Hernanie Basquina	\$124.00	\$496.00	\$49.60	\$545.60
15/06/2018	033	1	Painter - Hernanie Basquina	\$124.00	\$124.00	\$12.40	\$136.40
14/06/2018	033	3	Painter - Hernanie Basquina	\$124.00	\$372.00	\$37.20	\$409.20
22/06/2018	033	7.5	Painter - Hernanie Basquina	\$124.00	\$930.00	\$93.00	\$1,023.00
31/05/2018	033	3.5	Painter - Hernanie Basquina	\$124.00	\$434.00	\$43.40	\$477.40
06/03/2018	PNO004	140	Oil HP Gear 80W/90 1LTR (Per Litre)	\$11.20	\$1,568.00	\$156.80	\$1,724.80
06/03/2018	3666693	2	O'ring Shaft	\$38.60	\$77.20	\$7.72	\$84.92
06/03/2018	3666724	2	O'ring Omega 36DFLT	\$19.50	\$39.00	\$3.90	\$42.90
06/03/2018	3666695	2	O'ring	\$70.43	\$140.86	\$14.09	\$154.95
15/06/2018	223	2.5	Mechanic - Tamen Turner	\$124.00	\$310.00	\$31.00	\$341.00
28/05/2018	107	3.5	Mechanic - Michael Tunbridge	\$124.00	\$434.00	\$43.40	\$477.40
29/08/2018	107	7.5	Mechanic - Michael Tunbridge	\$124.00	\$930.00	\$93.00	\$1,023.00
08/06/2018	107	9.5	Mechanic - Michael Tunbridge	\$124.00	\$1,178.00	\$117.80	\$1,295.80
28/08/2018	107	1.5	Mechanic - Michael Tunbridge	\$124.00	\$186.00	\$18.60	\$204.60
24/05/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20

1229623

Onsite transport machine to Allied forklifts workshop, Complete refurbish, carryout full workshop inspection, report faults listed. Remove wheel & planetary's inspect brake friction plates, all ok. Replace Duro cons, seals worn bearings. Reseal hand brake assembly & fit new pads, Replace damaged hydraulic hoses recommend by hose right. Perform major engine, transmission service. refurbish lift cylinders. Complete a hydraulic oil strain, top up hydraulic oil, Remove steer wheels, clean inspect rear bearings repack, Replace door latches, remove windows to repair rust in cab, clean windows tint windows. Full respray of machine & mast, Re- sticker mine spec decals. Fit mast test all functions all ok. Demob machine for transport. Wormald system back into standard. It requires a LVL II + 5 yearly service and discharge test, the cylinder needs to be pressure tested. blasted and painted as it is out of date and LOP tube needs to be replaced. The discharge hose and

BSB	A STATE OF A	Thank you for your business		
Bank	TOTAL (inc. GST)	\$97,356.89		
Account Name Account Number	Total GST	\$8,850.63		
Please pay in 7 days to;	Sub Total	\$88,506.26		

alliedforklifts.com.au

FORKLIFTS

Tax Invoice

ed

ABN 66 060 256 377

Repair Invoice No. 1236298 Date

29/08/18

marine

Make Model Serial Number Engine Hours Next Service Due Plant ID

Date	Product	Qty	Description	Unit Price	Total (ex)	GST	Total
23/05/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20
24/08/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20
23/08/2018	155	8.5	Mechanic - Kerry Crosby	\$124.00	\$1,054.00	\$105.40	\$1,159.40
16/07/2018	155	4.5	Mechanic - Kerry Crosby	\$124.00	\$558.00	\$55.80	\$613.80
20/07/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20
09/07/2018	155	2	Mechanic - Kerry Crosby	\$124.00	\$248.00	\$24.80	\$272.80
22/08/2018	155	3.5	Mechanic - Kerry Crosby	\$124.00	\$434.00	\$43.40	\$477.40
24/07/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20
27/08/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20
23/07/2018	155	7	Mechanic - Kerry Crosby	\$124.00	\$868.00	\$86.80	\$954.80
27/06/2018	155	3.5	Mechanic - Kerry Crosby	\$124.00	\$434.00	\$43.40	\$477.40
21/05/2018	155	1.5	Mechanic - Kerry Crosby	\$124.00	\$186.00	\$18.60	\$204.60
02/08/2018	155	1	Mechanic - Kerry Crosby	\$124.00	\$124.00	\$12.40	\$136.40
19/07/2018	155	0.5	Mechanic - Kerry Crosby	\$124.00	\$62.00	\$6.20	\$68.20
18/06/2018	155	1.5	Mechanic - Kerry Crosby	\$124.00	\$186.00	\$18.60	\$204.60
07/06/2018	155	2	Mechanic - Kerry Crosby	\$124.00	\$248.00	\$24.80	\$272.80
31/05/2018	155	5.5	Mechanic - Kerry Crosby	\$124.00	\$682.00	\$68.20	\$750.20

1229623

ORKUPT TRUCKS

Onsite transport machine to Allied forklifts workshop, Complete refurbish, carryout full workshop inspection, report faults listed. Remove wheel & planetary's inspect brake friction plates, all ok. Replace Duro cons, seals worn bearings. Reseal hand brake assembly & fit new pads, Replace damaged hydraulic hoses recommend by hose right. Perform major engine, transmission service. refurbish lift cylinders. Complete a hydraulic oil strain, top up hydraulic oil, Remove steer wheels, clean inspect rear bearings repack, Replace door latches, remove windows to repair rust in cab, clean windows tint windows. Full respray of machine & mast, Re- sticker mine spec decals. Fit mast test all functions all ok. Demob machine for transport. Wormald system back into standard. It requires a LVL II + 5 yearly service and discharge test, the cylinder needs to be pressure tested. blasted and painted as it is out of date and LOP tube needs to be replaced. The discharge hose and

BSB	Thank you for your	business	
Bank	TOTAL (inc. GST)	\$97,356.89	
Account Name Account Number	Total GST	\$8,850.63	
Please pay in 7 days to;	Sub Total	\$88,506.26	

alliedforklifts.com.au

FORKLIFTS

Tax Invoice

ed

ABN 66 060 256 377

Repair Invoice No. 1236298 Date

29/08/18

marine

Make Model Serial Number Engine Hours Next Service Due Plant ID

Date	Product	Qty	Description	Unit Price	Total (ex)	GST	Total
10/07/2018	155	2	Mechanic - Kerry Crosby	\$124.00	\$248.00	\$24.80	\$272.80
19/06/2018	155	3	Mechanic - Kerry Crosby	\$124.00	\$372.00	\$37.20	\$409.20
30/05/2018	155	3	Mechanic - Kerry Crosby	\$124.00	\$372.00	\$37.20	\$409.20
28/08/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20
12/07/2018	155	3	Mechanic - Kerry Crosby	\$124.00	\$372.00	\$37.20	\$409.20
21/08/2018	155	3.5	Mechanic - Kerry Crosby	\$124.00	\$434.00	\$43.40	\$477.40
25/05/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20
01/08/2018	155	1	Mechanic - Kerry Crosby	\$124.00	\$124.00	\$12.40	\$136.40
20/08/2018	155	3	Mechanic - Kerry Crosby	\$124.00	\$372.00	\$37.20	\$409.20
12/06/2018	155	2.5	Mechanic - Kerry Crosby	\$124.00	\$310.00	\$31.00	\$341.00
08/06/2018	155	9	Mechanic - Kerry Crosby	\$124.00	\$1,116.00	\$111.60	\$1,227.60
13/07/2018	155	2.5	Mechanic - Kerry Crosby	\$124.00	\$310.00	\$31.00	\$341.00
22/06/2018	155	3	Mechanic - Kerry Crosby	\$124.00	\$372.00	\$37.20	\$409.20
17/07/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20
18/07/2018	155	4.5	Mechanic - Kerry Crosby	\$124.00	\$558.00	\$55.80	\$613.80
22/05/2018	155	8	Mechanic - Kerry Crosby	\$124.00	\$992.00	\$99.20	\$1,091.20
11/06/2018	155	3.5	Mechanic - Kerry Crosby	\$124.00	\$434.00	\$43.40	\$477.40

1229623

MITSUBISHI

Onsite transport machine to Allied forklifts workshop, Complete refurbish, carryout full workshop inspection, report faults listed. Remove wheel & planetary's inspect brake friction plates, all ok. Replace Duro cons, seals worn bearings. Reseal hand brake assembly & fit new pads, Replace damaged hydraulic hoses recommend by hose right. Perform major engine, transmission service. refurbish lift cylinders. Complete a hydraulic oil strain, top up hydraulic oil, Remove steer wheels, clean inspect rear bearings repack, Replace door latches, remove windows to repair rust in cab, clean windows tint windows. Full respray of machine & mast, Re- sticker mine spec decals. Fit mast test all functions all ok. Demob machine for transport. Wormald system back into standard. It requires a LVL II + 5 yearly service and discharge test, the cylinder needs to be pressure tested. blasted and painted as it is out of date and LOP tube needs to be replaced. The discharge hose and

BSB	Thank you for your	business	
Bank	TOTAL (inc. GST)	\$97,356.89	
Account Name Account Number	Total GST	\$8,850.63	
Please pay in 7 days to;	Sub Total	\$88,506.26	

alliedforklifts.com.au

FORKLIFTS

Tax Invoice

ed

ABN 66 060 256 377

Repair Invoice No. 1236298 Date

29/08/18

marine

Make Model Serial Number Engine Hours Next Service Due Plant ID

Date	Product	Qty	Description	Unit Price	Total (ex)	GST	Total
26/06/2018	155	6	Mechanic - Kerry Crosby	\$124.00	\$744.00	\$74.40	\$818.40
29/05/2018	022	2	Mechanic - Geoffrey Pinero	\$124.00	\$248.00	\$24.80	\$272.80
29/08/2018	228	6.5	Mechanic - Bernard Djekic	\$124.00	\$806.00	\$80.60	\$886.60
10/05/2018	51531	1	Master Gasket Loctite 50ML.	\$55.00	\$55.00	\$5.50	\$60.50
06/03/2018	3654314	2	Lined Pad	\$146.00	\$292.00	\$29.20	\$321.20
10/05/2018	Labour	98	Labour	\$0.00	\$0.00	\$0.00	\$0.00
06/03/2018	3635952	1	Hydraulic Filter	\$350.80	\$350.80	\$35.08	\$385.88
0/05/2018	P550148	1	Hydraulic Filter	\$67.48	\$67.48	\$6.75	\$74.23
0/05/2018	0539-116-27	1	Hose Clamp 9mm 16/27	\$3.00	\$3.00	\$0.30	\$3.30
0/05/2018	GC	2	Grease Cartridge	\$14.00	\$28.00	\$2.80	\$30.80
10/05/2018	GC	4	Grease Cartridge	\$14.00	\$56.00	\$5.60	\$61.60
10/05/2018	GC	1	Grease Cartridge	\$14.00	\$14.00	\$1.40	\$15.40
10/05/2018	3657850	1	Gauge - Sight glass	\$215.90	\$215.90	\$21.59	\$237.49
06/03/2018	3666689	2	Gasket Duro outter	\$480.00	\$960.00	\$96.00	\$1,056.00
6/03/2018	3666690	2	Gasket Duro inner	\$435.00	\$870.00	\$87.00	\$957.00
0/05/2018	FF5580	1	Fuel Filter	\$49.72	\$49.72	\$4.97	\$54.69
06/03/2018	Sublet	1	Fire supression refurbish, service system	\$3,170.18	\$3,170.18	\$317.02	\$3,487.20

1229623

MITSUBISH

Onsite transport machine to Allied forklifts workshop, Complete refurbish, carryout full workshop inspection, report faults listed. Remove wheel & planetary's inspect brake friction plates, all ok. Replace Duro cons, seals worn bearings. Reseal hand brake assembly & fit new pads, Replace damaged hydraulic hoses recommend by hose right. Perform major engine, transmission service. refurbish lift cylinders. Complete a hydraulic oil strain, top up hydraulic oil, Remove steer wheels, clean inspect rear bearings repack, Replace door latches, remove windows to repair rust in cab, clean windows tint windows. Full respray of machine & mast, Re- sticker mine spec decals. Fit mast test all functions all ok. Demob machine for transport. Wormald system back into standard. It requires a LVL II + 5 yearly service and discharge test, the cylinder needs to be pressure tested. blasted and painted as it is out of date and LOP tube needs to be replaced. The discharge hose and

BSB	Thank you for your	business	
Bank	TOTAL (inc. GST)	\$97,356.89	
Account Name Account Number	Total GST	\$8,850.63	
Please pay in 7 days to;	Sub Total	\$88,506.26	

alliedforklifts.com.au

FORKLIFTS

Tax Invoice

led

ABN 66 060 256 377

Repair Invoice No. 1236298 Date

29/08/18

Make Model Serial Number Engine Hours Next Service Due Plant ID

Date	Product	Qty	Description	Unit Price	Total (ex)	GST	Total
10/05/2018	LF3000	1	Filter, Engine Oil	\$120.64	\$120.64	\$12.06	\$132.70
10/05/2018	897064	1	Filter, Cab Breather	\$118.96	\$118.96	\$11.90	\$130.86
06/03/2018	3681671	1	Filter, Air primary	\$255.38	\$255.38	\$25.54	\$280.92
06/03/2018	3681672	1	Filter air secondary	\$122.18	\$122.18	\$12.22	\$134.40
06/03/2018	4209440	2	Filter-Oil Transmission	\$198.50	\$397.00	\$39.70	\$436.70
10/05/2018	16403-59E0A	1	Filter-Fuel	\$35.30	\$35.30	\$3.53	\$38.83
06/03/2018	2169020	15	Farmplus Hydratrans oil	\$10.31	\$154.64	\$15.46	\$170.10
10/05/2018	Sublet	1	Fan Belts	\$222.88	\$222.88	\$22.28	\$245.16
10/05/2018	3681768	1	Expansion Tank Sight Glass	\$256.22	\$256.22	\$25.63	\$281.85
06/03/2018	EL	1	Environmental waste disposal fee	\$21.00	\$21.00	\$2.10	\$23.10
06/03/2018	Sublet	1	Engineer manfacture, tlt pins	\$1,950.00	\$1,950.00	\$195.00	\$2,145.00
10/05/2018	600050	3	Denso Tape 50mm (per metre)	\$3.40	\$10.20	\$1.02	\$11.22
06/03/2018	600050	50	Denso Tape 50mm (per metre)	\$3.40	\$170.00	\$17.00	\$187.00
10/05/2018	Coolant Red	5	Coolant, red premixed 200L (per Litre)	\$7.30	\$36.50	\$3.65	\$40.15
6/03/2018	CON	1	Consumables	\$220.00	\$220.00	\$22.00	\$242.00
0/05/2018	Sublet	1	Clamps CF3-22	\$10.91	\$10.91	\$1.09	\$12.00
10/05/2018	053911627	4	Clamp Hose 9mm (16-27mm)	\$1.90	\$7.60	\$0.76	\$8.36

1229623

MITSUBISHI

Onsite transport machine to Allied forklifts workshop, Complete refurbish, carryout full workshop inspection, report faults listed. Remove wheel & planetary's inspect brake friction plates, all ok. Replace Duro cons, seals worn bearings. Reseal hand brake assembly & fit new pads, Replace damaged hydraulic hoses recommend by hose right. Perform major engine, transmission service. refurbish lift cylinders. Complete a hydraulic oil strain, top up hydraulic oil, Remove steer wheels, clean inspect rear bearings repack, Replace door latches, remove windows to repair rust in cab, clean windows tint windows. Full respray of machine & mast, Re- sticker mine spec decals. Fit mast test all functions all ok. Demob machine for transport. Wormald system back into standard. It requires a LVL II + 5 yearly service and discharge test, the cylinder needs to be pressure tested. blasted and painted as it is out of date and LOP tube needs to be replaced. The discharge hose and

BSB	Thank you for your	
Bank	TOTAL (inc. GST)	\$97,356.89
Account Number	Total GST	\$8,850.63
Please pay in 7 days to; Account Name	Sub Total	\$88,506.26

alliedforklifts.com.au

FORKLIFTS

Tax Invoice

ed

ABN 66 060 256 377

Repair Invoice No. 1236298 Date

29/08/18

MARINE

Make Model Serial Number Engine Hours Next Service Due Plant ID

Date	Product	Qty	Description	Unit Price	Total (ex)	GST	Total
10/05/2018	Tac 2	2	Chain Lube	\$24.00	\$48.00	\$4.80	\$52.80
06/03/2018	CANVAS	1	Canvas Seat Cover Suit TCM	\$250.00	\$250.00	\$25.00	\$275.00
06/03/2018	3666676	4	BRG Tappered Roller	\$1,890.80	\$7,563.20	\$756.32	\$8,319.52
06/03/2018	0890117	20	Brake Cleaner 500ML	\$8.00	\$160.00	\$16.00	\$176.00
10/05/2018	0890117	10	Brake Cleaner 500ML	\$8.00	\$80.00	\$8.00	\$88.00
10/05/2018	Sublet	1	Bracket Made	\$544.00	\$544.00	\$54.40	\$598.40
06/03/2018	3693210	2	Bracket door	\$154.00	\$308.00	\$30.80	\$338.80
0/05/2018	Sublet	1	Bolts	\$72.38	\$72.38	\$7.24	\$79.62
0/05/2018	BL1688	20	BL1688	\$185.00	\$3,700.00	\$370.00	\$4,070.00
06/03/2018	3972377	1	Belt, Drive fan	\$219.80	\$219.80	\$21.98	\$241.78
10/05/2018	3974102	1	Belt Tensioner	\$486.16	\$486.16	\$48.62	\$534.78
10/05/2018	31-1000 S4	2	Battery	\$273.60	\$547.20	\$54.72	\$601.92
10/05/2018	Sublet	1	Aircon Brackets	\$544.00	\$544.00	\$54.40	\$598.40
10/05/2018	3666675	4	3666675- Seal	\$427.12	\$1,708.48	\$170.85	\$1,879.33
06/03/2018	RUB745	4	15W40 Diesel Engine Oil 5 Litre Pack	\$49.95	\$199.80	\$19.98	\$219.78

1229623

MITSUBISMI

Onsite transport machine to Allied forklifts workshop, Complete refurbish, carryout full workshop inspection, report faults listed. Remove wheel & planetary's inspect brake friction plates, all ok. Replace Duro cons, seals worn bearings. Reseal hand brake assembly & fit new pads, Replace damaged hydraulic hoses recommend by hose right. Perform major engine, transmission service. refurbish lift cylinders. Complete a hydraulic oil strain, top up hydraulic oil, Remove steer wheels, clean inspect rear bearings repack, Replace door latches, remove windows to repair rust in cab, clean windows tint windows. Full respray of machine & mast, Re- sticker mine spec decals. Fit mast test all functions all ok. Demob machine for transport. Wormald system back into standard. It requires a LVL II + 5 yearly service and discharge test, the cylinder needs to be pressure tested. blasted and painted as it is out of date and LOP tube needs to be replaced. The discharge hose and

BSB	Thank you for your	business
Bank	TOTAL (inc. GST)	\$97,356.89
Account Name Account Number	Total GST	\$8,850.63
Please pay in 7 days to;	Sub Total	\$88,506.26

Sarvica History	Listing - Details							Date:	10/04/2024
Service mistory	Listing - Details							Time:	10:54:20
For Equipment Code From: F	FL32001 To: FL32001	For J	lob Category From: Al	l To: All		For Serial No From: All To: A	II		
For Mechanic From: All To: A						For Service Date From: All To	o: All		
For Part No From: All To: All		For J	lob Type: All			For Owner Option From: All	To: All		
For Branch Code From: All To	o: All	For S	Service Job No. From:	All To: All		For Reason Code From: All 1	Γο: All		
									lass No
Job Code Descr	iption	Job Type	Job Category	Service Date	Cust. Code	Call Reason	Mechanic	Hour Meter	Inv. No
Equip Code: FL32001	·	2.0t - 5.5m - Die		Service Date	Cust. Code Registration: L533	Call Reason	Mechanic Registration Expiry:	Hour Meter	
Equip Code: FL32001	Description: Forklift - 3	2.0t - 5.5m - Die Model: I	esel		Registration:	Call Reason		Hour Meter 3010	
Equip Code: FL32001 615222 CU-D/	Description: Forklift - 3 Make: Omega	2.0t - 5.5m - Die Model: I	esel MFD20 Omega	Serial No:	Registration: L533 BHPNICKELS		Registration Expiry:		PO/TS No
Equip Code: FL32001 615222 CU-D/	ک Description: Forklift - ۵ Make: Omega AM Cab Rusty / Tyres U.S. / ۸۵	2.0t - 5.5m - Die Model: I Internal	esel MFD20 Omega	Serial No: 6/12/2023	Registration: L533 BHPNICKELS	Repairs & Maintenance	Registration Expiry:	3010	

Onsite Rental Group Operations Pty Ltd

559034	Diagnose and repair	no side shift	Internal Omega	23/05/2	023	BHPNICKELS Re	epairs a	& Maintenance	JWALTERS	3010	
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retai	l Reason	Warranty Expiry	SA Code	PO/TS No
Labour	JWALTERS	23/05/2023	Carry Out General Travel to site	1.00	0		\$0.00	RM		160610RM	1098888
Labour	JWALTERS	23/05/2023	Check/Inspect Electrical general Fuse	0.25	0		\$0.00	RM		160610RM	1098890
Labour	JWALTERS	23/05/2023	Check/Inspect Electrical general Relay	0.25	0		\$0.00	RM		160610RM	1098892
Labour	JWALTERS	23/05/2023	Check/Inspect Electrical general Wiring Harness	1.00	0		\$0.00	RM		160610RM	1098894
Labour	JWALTERS	23/05/2023	Repair Electrical general Wiring Harness	-1.00	0		\$0.00	RM		160610RM	1098896
Labour	JWALTERS	23/05/2023	Repair Electrical general Wiring Harness	1.00	0		\$0.00	RM		160610RM	1098895
Labour	JWALTERS	23/05/2023	Repair Wiring Harness Electrical general	1.50	0		\$0.00	RM		160610RM	1098897
				Jo	b Total:		\$0.00	-			

Note : Customer stated no side shift, arrived on site to diagnose and repair fault.

Traced and inspected wiring from joystick to valves, all ok.

Checked all fuses and relays, all ok.

Found no voltage at solenoid, diagnose worm/corroded terminals on din plugs for solenoids. Replaced all 4 din plugs on side shift control block. All

tested ok.

Carry Out General Travel to site

Check/Inspect Electrical general Fuse

Check/Inspect Electrical general Relay

Check/Inspect Electrical general Wiring Harness

Repair Electrical general Wiring Harness

Job Code	Description		Job Type	Job Category	Service	Date	Cust. Code	Call Reas	son	Mechanic	Hour Meter	Inv. No
558633	Service inspection		Internal	Omega	22/05/20	023	BHPNICKELS	Schedule	ed Maintenance	DSEMPLE	3010	
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retai	l Reason	Warranty Expiry	SA Code	PO/TS No
Labour	DSEMPLE	22/05/2023	Carry Out Ins Inspection	pection Service	1.50	0		\$0.00	SM		160610SM	1098179
					Jo	b Total:		\$0.00	-			
Note : Carry Out	t Inspection Service Inspecti	ion										
531483	diagnose and repair	hydraulic fault.	Internal	Omega	2/02/202	23	BHPNICKELS	Repairs a	& Maintenance	JWALTERS	2985	
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retai	l Reason	Warranty Expiry	SA Code	PO/TS No
Labour	JWALTERS	15/02/2023	Carry Out Ge site	eneral Travel to	0.40	0		\$0.00	RM		160610RM	1052699
Labour	JWALTERS	15/02/2023	Check/Inspec Hydraulics Ge		0.70	0		\$0.00	RM		160610RM	1052697
Labour	JWALTERS	15/02/2023	Diagnose Acc Hydraulics Ge	cumulator	0.20	0		\$0.00	RM		160610RM	1052696
Labour	JWALTERS	15/02/2023	Diagnose Hy Accumulator		1.00	0		\$0.00	RM		160610RM	1052698
					Jo	b Total:		\$0.00	-			
Note : Diagnose	Accumulator Hydraulics Ge	eneral										
Check/Inspect A	ctuator Hydraulics General											
Diagnose Hyd B	rake Accumulator Brakes											
Carry Out Gener	ral Travel to site											
	ained side shift not working. here for causing operation fa		cs found brake ac	cumilator constantly	recharging w	which runs the	e same circuit as the	side				

443506	Safety Inspection	Safety Inspection		2/02/2023	Inspection	JWALTERS	298	35
Туре	Parts/Mechanics	Date	Description	Qty Discount	Retail Reason	Warranty Expiry	SA Code	PO/TS No
				0.01	\$0.00			
				Job Total:	\$0.00			

515143	Oil Leak		Internal Omega 17/11/2022		BHPNICKELS	Repairs & Maintenance	JWALTERS	2940		
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	JWALTERS	17/11/2022	Carry Out General Travel to site	0.40	0		\$0.00 RM		160610RM	1017152
Labour	JWALTERS	17/11/2022	Check/Inspect Wiring Harness Electrical	0.50	0		\$0.00 RM		160610RM	1017154
Labour	JWALTERS	17/11/2022	Replace Hydraulic Fitting Hoses	0.30	0		\$0.00 RM		160610RM	1017153
Labour	JWALTERS	17/11/2022	Replace Reverse Alarm Safety Syatems	0.30	0		\$0.00 RM		160610RM	1017155

Job Code	Description	Job Type	Job Category	Service Date	Cust. Code	Call Reason	Mechanic	Hour Meter	Inv. No
				Job Total:		\$0.00			
Note : Carry Ou	it General Travel to site								

Replace Hydraulic Fitting Hoses

Check/Inspect Wiring Harness Electrical general

Replace Reverse Alarm Safety Systems

Customer stated oil leak in same area after previouse repair. found 1x fitting to not be sealing correctly. changed fitting which was new for old one from failed valve block. re-tested and all ok. replaced reverse hooter/siren.

514499	Oil Leak,solenoid va	lve behind front le	Internal Omega	14/11/2	022	BHPNICKELS	Repairs & Maintena	ice JWALTERS	294	10
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	JWALTERS	14/11/2022	Carry Out General Equipment Cleaning	0.10	0		\$0.00 RM		160610RM	1015760
Labour	JWALTERS	14/11/2022	Carry Out General Travel to site	0.40	0		\$0.00 RM		160610RM	1015761
Labour	JWALTERS	16/11/2022	Carry Out General Travel to site	0.40	0		\$0.00 RM		160610RM	1016596
Labour	JWALTERS	14/11/2022	Diagnose Control Valve Hydraulics Genera	0.70	0		\$0.00 RM		160610RM	1015762
Labour	JWALTERS	16/11/2022	Labour Other Other	0.30	0		\$0.00 RM		160610RM	1016595
Labour	JWALTERS	16/11/2022	Replace Control Valve Hydraulics General	0.60	0		\$0.00 RM		160610RM	1016597
				Jo	b Total:		\$0.00			

Note : Carry Out General Equipment Cleaning

Carry Out General Travel to site

Diagnose Control Valve Hydraulics General

customer stated oil leak from below machine. on inspection found 1x 3-way hydraulic solenoid valve behind front left tyre to be excessivly corroded. new valve ordered.

Labour Other Other

Replace Control Valve Hydraulics General

fit new electric over hydraulic controle valve behind front left tyre. carry out function test.

513480	re-seal hydrualic joy	stick.	Internal Omega	9/11/2022 BHPNICKELS		Repairs & Maintenance	JWALTERS	294	0	
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	JWALTERS	9/11/2022	Carry Out General Travel to site	0.20	0		\$0.00 RM		160610RM	1013888
Labour	JWALTERS	9/11/2022	Repair Joy Stick Controllers General	2.10	0		\$0.00 RM		160610RM	1013889
				Jo	b Total:		\$0.00			

Job Code	Description	Job Type	Job Category	Service Date	Cust. Code	Call Reason	Mechanic	Hour Meter	Inv. No

Note : Carry Out General Travel to site

Repair Joy Stick Controllers General

operator stated joystick leaking. stripped and tested found top wiper seals on individual spools leaking. new OEM seal ordered and fitted. tested all ok at time of test.

re-seal hydraulic joy stick.

422962	Safety Inspection		Inspection M	9/11/2022	Inspection	JWALTERS	2940	
Туре	Parts/Mechanics	Date	Description	Qty Discount	Retail Reason	Warranty Expiry	SA Code PO/T	TS No
				0.01	\$0.00			
				Job Total:	\$0.00			
499599	service inspection		Internal Omega	19/09/2022 BHPNICKELS	Scheduled Maintenance	JWALTERS	2921	
Туре	Parts/Mechanics	Date	Description	Qty Discount	Retail Reason	Warranty Expiry	SA Code PO/1	TS No
Labour	JWALTERS	19/09/2022	Carry Out Service Inspection Inspection	2.00 0	\$0.00 SM		160610SM 99	90116

Job Total: \$0.00

Note : Carry Out Service Inspection as per Checklist

carry out service inspection as per checklist. Faults found as bellow. -1x beacon light faulty -1x 4,5 kg fire extinguisher expired. -1x 1kg extinguisher expired. - fire suppreeion system out of date, needs recharge. -2x engine hood gas struts u/s - airconditioning system u/s -2x 24v horns failed. - front, rear and top wiper blades u/s. machine due for service

499584	repair left hand rear	kingpin bearings	Internal Omega	19/09/2	022	BHPNICKELS	Repairs & M	laintenance	JWALTERS	292	1
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail R	leason	Warranty Expiry	SA Code	PO/TS No
Labour	JWALTERS	19/09/2022	Check/Inspect Hub Final Drives	1.00	0		\$0.00 R	M		160610RM	990067
Labour	JWALTERS	19/09/2022	Labour Other Other	8.00	0		\$0.00 R	M		160610RM	990064
Labour	JWALTERS	19/09/2022	Refit Hub Final Drives	1.00	0		\$0.00 R	M		160610RM	990069
Labour	JWALTERS	19/09/2022	Refit King Pin & Bearings Steering	4.00	0		\$0.00 R	M		160610RM	990065
Labour	JWALTERS	19/09/2022	Remove Hub Final Drives	1.00	0		\$0.00 R	M		160610RM	990068
Labour	JWALTERS	19/09/2022	Remove King Pin & Bearings Steering	10.00	0		\$0.00 R	M		160610RM	990066
Labour	JWALTERS	19/09/2022	Repair King Pin & Bearings Steering	4.00	0		\$0.00 R	M		160610RM	990070
Labour	JWALTERS	19/09/2022	Replace Steer Linkage Steering	2.00	0		\$0.00 R	M		160610RM	990071
				Jo	b Total:		\$0.00				

	Description		Job Type	Job Calegory	Service	Date	ousi. ooue	Call Reason	Mechanic	TIOUT Mete	
Note : Labour Ot	her Other										
Refit King Pin & I	Bearings Steering										
Remove King Pir	n & Bearings Steering										
Check/Inspect H	ub Final Drives										
Remove Hub Fin	nal Drives										
Refit Hub Final D	Drives										
Repair King Pin a	& Bearings Steering										
Replace Steer Li	nkage Steering										
	iagnosed left rear kingpin be nble and test. Job required parts.							ıd fit			
409313	Safety Inspection		Inspection	Μ	19/09/20	22		Inspection	JWALTERS	292	1
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
					0.01			\$0.00			
					Jol	b Total:		\$0.00			
409282	Safety Inspection		Inspection	м	19/09/20	122		Inspection	JWALTERS	292	1
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
					0.01			\$0.00			
					Jol	b Total:		\$0.00			
453288	Rear left wheel align	ment out of angle	Internal	Omega	4/03/202	2	BHPNICKELS	Repairs & Maintenance	HThaha	285	0
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
_abour	HThaha	4/03/2022	Carry Out Ger General	neral Other	1.50	0		\$0.00 RM		160610RM	907305
					Jol	b Total:		\$0.00			
Note : Carry Out	General Other General										
Wheel Allignmen	t is not good. Same need to	be repaired.									
357516	Safety Inspection		Inspection	М	4/03/202	.2		Inspection	HThaha	285	0
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
					1.00			\$0.00			
								·			

Service Date

Cust. Code

Call Reason

Mechanic

Hour Meter

Inv. No

Description

Job Code

Job Type

Job Category

Job Code	Description		Job Type Job Categor	/ Service	Date	Cust. Code	Call Reaso	n	Mechanic	Hour Meter	r Inv. No
422432	SERVICE INSP + REI	PAIR OIL LEAK	Internal Omega	14/10/2	021	BHPNICKELS	Scheduled	Maintenance	DSEMPLE	2850)
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
Labour	DSEMPLE	14/10/2021	Carry Out General Travel to site	2.00	0		\$0.00	SM		160610SM	846671
Labour	DSEMPLE	14/10/2021	Carry Out General Travel whilst on job	2.50	0		\$0.00	SM		160610SM	846670
Labour	DSEMPLE	14/10/2021	Repair Hydraulic Fitting Hoses	3.00	0		\$0.00	SM		160610SM	846669
				Jo	b Total:		\$0.00				

Note : Repair Hydraulic Fitting Hoses

Carry Out General Travel whilst on job

Carry Out General Travel to site

-TRAVEL TO SITE -LOCATE UNIT -DIAGNOSE OIL LEAK -FOUND O'RINGS REQUIRE REPLACING -TRAVEL TO HOSE REPAIR + GET NEW O'RINGS -TRAVEL TO GET HYD FLUID FOR TOP UP -RETURN TO SITE -REMOVE/REPLACE O'RINGS ON LEAKING HOSES + RE-FIT -COMPLETE SI -MAST STUCK HALF WAY AFTER TESTING -FINALLY GET MAST DOWN + GREASE ROLLERS + SLIDES -FOUND ANOTHER FITTING LEAKING AFTER INSPECTION -REMOVE ALL COVERS AND OBSTRUCTIONS -TIGHTEN FITTINGS AS LOOSE -TEST FOR LEAKS (OK) -RE-FIT ALL COVERS ETC **REQUIRED** *SPOOLS IN CAB LEAKING REQUIRE RE-SEAL *LIFT CYLINDER RETURN HOSES REQUIRE RE-SEALING *RHS TILT MAST CYLINDER LEAKING *1X FLASHING LIGHT U/S *BRAKE ERROR LIGHT ON DISPLAY

320392	Safety Inspection		Inspection M	14/10/2021	Inspection	DSEMPLE	285	0
Туре	Parts/Mechanics	Date	Description	Qty Discount	Retail Reason	Warranty Expiry	SA Code	PO/TS No
				0.10	\$0.00			
				Job Total:	\$0.00			

384625	the air intake line be	tween the filter an	Internal Omega	4/05/202	21	BHPNICKELS	Scheduled	Maintenance	HThaha	276	3
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail I	Reason	Warranty Expiry	SA Code	PO/TS No
Labour	HThaha	4/05/2021	Carry Out Service Inspection	1.00	0		\$0.00 F	RM		160610RM	765794
Labour	HThaha	4/05/2021	Repair Other Engine	2.00	0		\$0.00 F	RM		160610RM	765793
				Jo	b Total:		\$0.00				

Note : the air intake line between the filter and the turbo remains off. The pipe is sitting in bottom of the rear tray of the engine. Dust is bypassing the intake filter and is directly entering the turbo a

Repair Other Engine

Carry Out Service Inspection as per Checklist

LES 2529, Air filter suction hose fallen. Same is refitted. Clamps need to be replaced.

377503	DIAGNOSE NO STAR	т	Internal Omega	30/03/2	021	BHPNICKELS	Repairs & Maintenance	DSEMPLE	275	0
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	DSEMPLE	30/03/2021	Carry Out General Travel to site	0.50	0		\$0.00 RM		160610RM	749954

Job Code	Description		Job Type	Job Category	Service Date	c	Cust. Code	Call Reas	son	Mechanic	Hour Meter	Inv. No
Labour	DSEMPLE	30/03/2021	Carry Out Gene whilst on job	eral Travel	0.50	0		\$0.00	RM		160610RM	749952
Labour	DSEMPLE	30/03/2021	Diagnose Wirin Electrical gener	•	1.00	0		\$0.00	RM		160610RM	749953
Labour	DSEMPLE	30/03/2021	Repair Wiring H Electrical gener	larness	0.50	0		\$0.00	RM		160610RM	749955
					Job Total	:		\$0.00				

Note : Carry Out General Travel whilst on job

Diagnose Wiring Harness Electrical general

Carry Out General Travel to site

Repair Wiring Harness Electrical general

-TRAVEL TO SITE -TRY CONTACT SITE CONTACT BUT COULDN'T -DRIVE AROUND TILL LOCATED UNIT -DIAGNOSE NO START -FOUND NO POWER TO IGNITION -CHECK WIRING -FOUND E-STOP WIRE BROKEN -REPAIR WIRING + RE-FIT -TEST UNIT (OK)

268503	Safety Inspection		Inspection M	30/03/2021	Inspection	DSEMPLE	275	50
Туре	Parts/Mechanics	Date	Description	Qty Discount	Retail Reason	Warranty Expiry	SA Code	PO/TS No
			91+ days rate	0.10	\$0.00			
				Job Total:	\$0.00			

374357	Scheduled Service J	ob. Service Inspe	Internal Omega	17/03/2	021	BHPNICKELS	Schedule	ed Maintenance	HThaha	269	8
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retai	Reason	Warranty Expiry	SA Code	PO/TS No
Labour	HThaha	17/03/2021	Carry Out General Travel whilst on job	1.00	0		\$0.00	SM		160610SM	743077
Labour	HThaha	17/03/2021	Carry Out Service Inspection	2.00	0		\$0.00	SM		160610SM	743076
				Jo	b Total:		\$0.00	-			

Note : Carry Out Service Inspection as per Checklist

Carry Out General Travel whilst on job

363773	Hydraulic leak & rep	lace belt	Internal	Omega	5/02/2021	BHPNICKELS	Repairs & Maintenance	HThaha	26	98
Туре	Parts/Mechanics	Date	Description		Qty Disco	unt	Retail Reason	Warranty Expiry	SA Code	PO/TS No
							\$0.00			
					Job Total:		\$0.00			

Note : Hydraulic leak & replace belt

357110	Low on coolant - Far	n Belt - Oil Leak	Internal Omega	6/01/20	21 BH	IPNICKELS Repa	irs & Maintenance	DSEMPLE	2529	9
Туре	Parts/Mechanics	Date	Description	Qty	Discount	R	etail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	DSEMPLE	6/01/2021	Carry Out General Travel whilst on job	0.50	0	\$0.	00 RM		160610RM	707075
Labour	DSEMPLE	6/01/2021	Diagnose Fan Belt Cooling System	0.50	0	\$0.	00 RM		160610RM	707074

Job Code	Description		Job Type Job Category	Service Date	Cust. Code	Call Reason	Mechanic	Hour Meter	Inv. No
Labour	DSEMPLE	6/01/2021	Diagnose Other Hydraulics General	0.20	0	\$0.00 RM		160610RM	707073
Labour	DSEMPLE	6/01/2021	Repair Other Cooling System	0.30	0	\$0.00 RM		160610RM	707072
				Job Total	:	\$0.00			

Note : Low on coolant - Fan Belt - Oil Leak

Repair Other Cooling System

Diagnose Other Hydraulics General

Diagnose Fan Belt Cooling System

Carry Out General Travel whilst on job

-LOCATE UNIT -TOP UP COOLANT -CHECK ENGINE OIL - OK -CHECK FOR LEAK AT MAST - FOUNDLIFT CYLINDER STEEL PIPES WEEPING OIL AT FITTINGS REQUIRES REMOVAL REPLACE SEALS AND RE-FIT BUT GOING TO DROP A LOT OF OIL IN THE PROCESS -CHECK FOR FRAYED BELTS - FOUND A/C BELT CRACKED BUT A/C NOT WORKING -INFORM OF REQUIRED REPAIRS

323988	Job Created by FSM	technician 500hr	Internal Omega	9/08/202	20	BHPNICKELS Prev	vent	ative Maintenanc	e	SNtana	252	9
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Reta	il Reason	Warra	anty Expiry	SA Code	PO/TS No
Labour	SNtana	5/08/2020	Carry Out 500hr Service Preventative Mai	3.00	0	\$(0.00	РМ			160610PM	630103
Labour	SNtana	6/08/2020	Carry Out 500hr Service Preventative Mai	4.00	0	\$0	0.00	PM			160610PM	630845
Labour	SNtana	9/08/2020	Carry Out 500hr Service Preventative Mai	10.00	0	\$0	0.00	PM			160610PM	631842
Labour	SNtana	5/08/2020	Carry Out General Other General	1.50	0	\$0	0.00	PM			160610PM	630101
Labour	SNtana	5/08/2020	Carry Out General Travel to site	0.30	0	\$0	0.00	PM			160610PM	630102
Labour	SNtana	6/08/2020	Carry Out General Travel to site	0.30	0	\$0	0.00	PM			160610PM	630844
				Jo	b Total:	\$0	0.00	_				

Note : Job Created by FSM technician

Carry Out General Other General

Carry Out General Travel to site

Carry Out 500hr Service - Oil & Filter Change - Complete Service Inspection Checklist.

- Prepair for the service at the workshop - Clear up vehicle - load up parts and hookup service trailer. - Travel to site. - Machine was moved to another location. - Set up - Take oil sumples and carry on with the service - Pack up

- Travel to site - Set up - Carry on with service - Pack up

7/8/2020 - Travel to site - set up - Drain/fill engine oil, Transmission oil, LH,RH final drive oil. - Remove/replace fuel filters, Transmission filter, Air cleaner filters, hydraulic filters, hyd breather. - Topped up coolant. - Diff oil not changed it will need to be arranged for other time - Start and test run - Pack up - RH Lift cyl pipe leaks oil - RH Tilt cyl pipe fitting leaks oil.

Job Code	Description		Job Type	Job Category	Service	Date	Cust. Code	Call Reas	son	Mechanic	Hour Mete	r Inv. No
295311	LOW HYDRAULIC OI	L	Internal	Omega	24/03/2	020	BHPNICKELS	Repairs &	& Maintenance	SNtana	240)
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
Labour	SNtana	24/03/2020	Repair Other H General	Hydraulics	1.50	0		\$0.00	RM		160610SI	559394
					Jo	b Total:		\$0.00				
Note : Repair Ot	her Hydraulics General											
187913	Safety Inspection		Inspection	м	24/03/2	020		Inspectio	n	SNtana	240)
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
			91+ days rate		1.00			\$0.00				
					Ja	b Total:		\$0.00				
186958	Safety Inspection		Inspection	м	19/03/2	020		Inspectio	n	SNtana	239	6
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
			91+ days rate		1.00			\$0.00				
					Jo	b Total:		\$0.00				
294279	Hydraulic oil low		Internal	Omega	18/03/2	020	BHPNICKELS	Repairs &	& Maintenance	SNtana	239	6
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
Labour	SNtana	19/03/2020	Carry Out Gen site	neral Travel to	1.00	0		\$0.00	RM		160610SI	556838
Labour	SNtana	19/03/2020	Repair Other H General	Hydraulics	1.00	0		\$0.00	RM		160610SI	556839
Note · Carry Out	General Travel to site				Jo	b Total:		\$0.00				
Repair Other Hy												
293751	Replce : Wipers front	and rear, Preclea	Internal	Omega	16/03/2	020	BHPNICKELS	Repairs &	& Maintenance	SNtana	239	1
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
Labour	SNtana	17/03/2020	Repair Air Filte Engine	er Outer	0.50	0		\$0.00	RM		160610SI	555474
Labour	SNtana	17/03/2020	Repair Other E general	Electrical	1.50	0		\$0.00	RM		160610SI	555473
Labour	SNtana	17/03/2020	Repair Other H General	Hydraulics	1.00	0		\$0.00	RM		160610SI	555476
Labour	SNtana	17/03/2020	Replace Other	Engine	0.50	0		\$0.00	RM		160610SI	555478
Labour	SNtana	17/03/2020	Replace Wiper	r Motor Front	0.50	0		\$0.00	RM		160610SI	555475
	SNtana	17/03/2020	Wipers Replace Wipe			0		\$0.00	RM		160610SI	555477

Job Code	Description		Job Type 🔍	Job Category	Service Date	Cust. Code	Call Rea	son	Mechanic	Hour Met	er Inv. No
					Job Tota	al:	\$0.00	-			
Note : Repair Ot	her Electrical general										
Repair Air Filter	Outer Engine										
Replace Wiper N	Motor Front Wipers										
Repair Other Hy	draulics General										
Replace Wiper N	Motor Rear Wipers										
Replace Other E	Ingine										
Forklift is due for	r service										
186355	Safety Inspection		Inspection I	м	16/03/2020		Inspectio	on	SNtana	23	94
Туре	Parts/Mechanics	Date	Description		Qty Dis	count	Retai	l Reason	Warranty Expiry	SA Code	PO/TS N
			91+ days rate		1.00		\$0.00				
					Job Tota	al:	\$0.00	-			
284857	Fix Hydraulic Leak		Internal (Omega	6/02/2020	BHPNICKELS	Repairs	& Maintenance	SNtana	23	61
Туре	Parts/Mechanics	Date	Description		Qty Dis	count	Retai	l Reason	Warranty Expiry	SA Code	PO/TS N
Labour	SNtana	7/02/2020	Repair Other Hyd General	draulics	2.50	0	\$0.00	RM		160610SI	53503
					Job Tota	al:	\$0.00	-			
Note : Repair Ot	her Hydraulics General										
268871	Not Starting		Internal (Omega	20/11/2019	BHPNICKELS	Repairs	& Maintenance	DSEMPLE	22	83
Туре	Parts/Mechanics	Date	Description		Qty Dis	count	Retai	l Reason	Warranty Expiry	SA Code	PO/TS N
Labour	DSEMPLE	20/11/2019	Carry Out Gener site	al Travel to	0.50	0	\$0.00	RM		160610SI	49754
Labour	DSEMPLE	20/11/2019	Carry Out Gener whilst on job	al Travel	0.20	0	\$0.00	RM		160610SI	49754
Labour	DSEMPLE	20/11/2019	Diagnose Other	Electrical	0.50	0	\$0.00	RM		160610SI	49754
Labour	DSEMPLE	20/11/2019	general Repair Other Ele	ectrical	1.00	0	\$0.00	RM		160610SI	49754
			general								

Job Code	Description	Job Type	Job Category	Service Date	Cust. Code	Call Reason	Mechanic	Hour Meter	Inv. No

Note : Not Starting

Carry Out General Travel whilst on job

Diagnose Other Electrical general

Carry Out General Travel to site

Repair Other Electrical general

-TRAVEL TO SITE -LOCATE UNIT -DIAGNOSE NO STARTING FAULT -INSPECT STARTER + TEST SUPPLIED VOLTAGE -FOUND SIGNAL WIRE TO STARTER FITTED TO EARTH TERMINAL AND MELTED 1X WIRE -REMOVE DAMAGED EARTH WIRE + REPLACE -WIRE POSITIVE SIGNAL CORRECTLY -TEST UNIT (OK)

267440	Replace starter motor		Internal	Omega	14/11/20	19	BHPNICKELS	Repairs	& Maintenance	TMAARSSEN		2283
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retai	l Reason	Warranty Expiry	SA Code	PO/TS No
Labour	TMAARSSEN	14/11/2019	Replace Othe general	r Electrical	14.00	0		\$0.00	RM		160610SI	494092
					Job	o Total:		\$0.00	-			
Note : Job Created b	y FSM technician											
Replace Other Electi	rical general											

replace starter motor

255549	SERVICE INSP		Internal Omega	27/09/2	019	BHPNICKELS	Schedule	ed Maintenance	DSEMPLE	22	83
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retai	l Reason	Warranty Expiry	SA Code	PO/TS No
Labour	DSEMPLE	27/09/2019	Carry Out General Travel whilst on job	0.20	0		\$0.00	SM		160610SI	467452
Labour	DSEMPLE	27/09/2019	Carry Out Service Inspection	1.50	0		\$0.00	SM		160610SI	467451
				Jo	b Total:		\$0.00	-			

Note : Carry Out Service Inspection as per Checklist

Carry Out General Travel whilst on job

-L.E.S=1807 -LOCATE UNIT -COMPLETE S.I **REQUIRED** -PRE CLEANER BOWL -2X BEACONS -TRANS FLUID FOR TOP UP -1X 1KG FIRE EXT -500HR DUE

154359	Safety Inspection		Inspection	М	27/09/2019		Inspection	DSEMPLE	2283	
Туре	Parts/Mechanics	Date	Description		Qty Disc	ount	Retail Reason	Warranty Expiry	SA Code	PO/TS No
					0.10		\$0.00			
					Job Total	:	\$0.00			
203273	Function test Service	Inspection	Internal	Omega	15/02/2019	BHPNICKELS	Scheduled Maintenance	TMAARSSEN	1952	
Туре	Parts/Mechanics	Date	Description		Qty Disc	ount	Retail Reason	Warranty Expiry	SA Code	PO/TS No

Job Code	Description		Job Type	Job Category	Service Date	Cust. Code	Call Reason	Mechanic	Hour Meter	Inv. No
Labour	TMAARSSEN	15/02/2019	Carry Out Se Inspection	rvice Inspection	2.00	0	\$0.00 RM		160610SI	353424
					Job Total:		\$0.00			
Note : Carry Out	Service Inspection as per C	hecklist								
199715	Tines not going in & o	out	Internal	Omega	31/01/2019	BHPNICKELS	Repairs & Maintenance		1952	
Туре	Parts/Mechanics	Date	Description		Qty Discou	int	Retail Reason	Warranty Expiry	SA Code	PO/TS No
							\$0.00			
					Job Total:		\$0.00			
Note : Tines not	going in & out									
192417	SERVICE INSPECTIO	N	Internal	Omega	18/12/2018	BHPNICKELS	Scheduled Maintenance	DSEMPLE	1952	
Tuno	Parts/Machanics	Data	Description		Oty Discou	unt	Potail Poason	Warranty Expiry	SA Codo	PO/TS No

Туре	Parts/Mechanics	Date	Description	Qty	Discount	Retail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	DSEMPLE	18/12/2018	Carry Out General Travel to site	0.50	0	\$0.00 SM		160610SI	329803
Labour	DSEMPLE	18/12/2018	Carry Out Service Inspection Inspection	1.50	0	\$0.00 SM		160610SI	329804
				Jo	b Total:	\$0.00			

Note : Carry Out General Travel to site

Carry Out Service Inspection as per Checklist

-L.E.S=1807 -FAULT ICON ON DISPLAY NOT SURE HOW TO ERASE (ALL SYSTEMS FUNCTIONING DURING TESTS)

103478	Safety Inspection		Inspection	м	18/12/201	8	Inspection	DSEMPLE	195	52
Туре	Parts/Mechanics	Date	Description		Qty	Discount	Retail Reason	Warranty Expiry	SA Code	PO/TS No
					0.10		\$0.00			
					Job	Total:	\$0.00			

189110	Check/rectify oil leak	τ.	Internal Omega	5/12/20	18	BHPNICKELS	Repairs & Maintenance	JPRINCE	194	44
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	JPRINCE	5/12/2018	Carry Out General Travel to site	1.00	0		\$0.00 RM		160610SI	323741
Labour	JPRINCE	5/12/2018	Carry Out General Travel to site	1.00	0		\$0.00 RM		160610SI	323742
Labour	JPRINCE	5/12/2018	Repair Hose High Pressure Hoses	1.00	0		\$0.00 RM		160610SI	323740
				Jo	b Total:		\$0.00			

Note : Check/rectify oil leak

Repair Hose High Pressure Hoses

Carry Out General Travel to site

Check fault with oil leaking under forklift. Found loose hose connection. Tighten fitting and recheck, all o.k

Job Code	Description	Description Job Type Job Cat		Job Category Service Date C		Cust. Code	Call Reason		Mechanic	Hour Meter	Inv. No
183763	STARTING FAULT	STARTING FAULT Internal Omega		15/11/2018 E		BHPNICKELS	Repairs & Ma	Maintenance JPRINCE		1924	
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail Re	ason	Warranty Expiry	SA Code	PO/TS No
Labour	JPRINCE	15/11/2018	Carry Out General Travel to site	0.50	0		\$0.00 RM	1		160610SI	314263
Labour	JPRINCE	15/11/2018	Carry Out General Travel to site	0.50	0		\$0.00 RM	1		160610SI	314264
Labour	JPRINCE	15/11/2018	Carry Out General Travel to site	0.50	0		\$0.00 RM	1		160610SI	314267
Labour	JPRINCE	15/11/2018	Carry Out General Travel to site	0.50	0		\$0.00 RM	1		160610SI	314268
Labour	JPRINCE	15/11/2018	Diagnose Wiring Harness Electrical gener	6.00	0		\$0.00 RM	1		160610SI	314265
Labour	JPRINCE	15/11/2018	Repair Wiring Harness Electrical general	4.00	0		\$0.00 RM	1		160610SI	314266
				Je	ob Total:		\$0.00				

Note : STARTING FAULT

Carry Out General Travel to site

Diagnose Wiring Harness Electrical general

Repair Wiring Harness Electrical general

Check fault with engine not starting. Found fuses 2F09 and 2F10 blown in fuse box. Cause of fuses blowing is a dead short circuit in the harness. Locate short in harness and repair. Test circuit, all working o.k

173228	Engine not starting.		Internal Omega	3/10/20	18	BHPNICKELS	Repairs & Maintenance	JPRINCE	189	94
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	JPRINCE	3/10/2018	Carry Out General Travel to site	0.50	0		\$0.00 RM		160610SI	294496
Labour	JPRINCE	3/10/2018	Carry Out General Travel whilst on job	1.50	0		\$0.00 RM		160610SI	294494
Labour	JPRINCE	3/10/2018	Diagnose Starter Motor Engine	4.00	0		\$0.00 RM		160610SI	294495
Labour	JPRINCE	3/10/2018	Replace Starter Motor Engine	4.00	0		\$0.00 RM		160610SI	294493
				Ja	b Total:		\$0.00			

Note : Engine not starting.

Replace Starter Motor Engine

Carry Out General Travel whilst on job

Diagnose Starter Motor Engine

Carry Out General Travel to site

Travel to site. Diagnose engine not starting fault. Found starter motor has failed. Travel to Kalgoorlie. Pick up new starter motor. Travel back to site. Fit new starter motor and test. All working o.k Travel to Kalgoorlie

Job Code	Description	Job Type Job Category		ry Service	Service Date Cust. Code Call Reason			Mechanic	Hour Meter	Inv. No
167747	Fit mast after transport Internal Omega		31/08/2018 ONSITE		ONSITE	Repairs & Mainte	enance JPRINCE	1890		
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail Reaso	on Warranty Expiry	SA Code	PO/TS No
Labour	JPRINCE	20/09/2018	Carry Out General Technical Support	0.50	0		\$0.00 RM		160610SI	289710
Labour	JPRINCE	3/09/2018	Carry Out General Travel to site	0.50	0		\$0.00 RM		160610SI	281135
Labour	JPRINCE	3/09/2018	Carry Out General Travel to site	0.50	0		\$0.00 RM		160610SI	281136
Labour	JPRINCE	3/09/2018	Refit Other Mast	9.50	0		\$0.00 RM		160610SI	281134
Labour	PRAPADA	31/08/2018	Carry Out General Other General	5.50	0		\$0.00 RM		160610SI	280849
Labour	PRAPADA	31/08/2018	Carry Out General Travel to site	0.40	0		\$0.00 RM		160610SI	280848
				Jo	b Total:		\$0.00			

Note : Fit mast after transport

Carry Out General Travel to site

Carry Out General Other General

ASSIST JAYSON AND KERRY TO FIT MAST ON 32 TON FORKLIFT.

Refit Other Mast

Unload machine and mast from trucks. Set up job site and install mast onto machine. Carry out operational checks and tests. Found machine has a fault with the accummulator charge valve. Allied Forklifts are sourcing parts to repair fault.

Carry Out General Technical Support

125146	1606 Customer repa	irs and general	we Internal	Omega	28/08/2018	BHPNICKELS	Repairs & Maintenance	1601OOS	18	80
Туре	Parts/Mechanics	Date	Description		Qty Disco	ount	Retail Reason	Warranty Expiry	SA Code	PO/TS No
							\$0.00			
					Job Total:		\$0.00			
Note · sent to P	Perth for a birthday on equipm	nent								

Note : sent to Perth for a birthday on equipment

19/3/18 Nath to get the quote for the reairs listt out of Allied forklifts Perth TT

16/4/2018 2 invoices split between customer damage and fair wear and tear. CD Invoice 1227427 \$56194.27 W&T Invoice 1226126 \$89848.52

25/7/2018 machine should be ready by end of month, testing is taking place as of 18/7

121682	repair mast		Internal Omega	10/02/2	018	BHPNICKELS	Repairs & Maintenance	PRAPADA	188	0
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	PRAPADA	10/02/2018	Carry Out General Travel to site	0.50	0		\$0.00 RM		160610SI	179742
Labour	PRAPADA	10/02/2018	Repair Other Attachments	3.00	0		\$0.00 RM		160610SI	179743

Job Code	Description	Job Type	Job Category	Service Date	Cust. Code	Call Reason	Mechanic	Hour Meter	Inv. No
				Job Total:		\$0.00			

Note : Job Created by FSM technician

Carry Out General Travel to site

Repair Other Attachments

DISSASEMBLE OF MAST AND CYLINDERS.

95913	service inspection		Internal Omega	29/11/20	017	BHPNICKELS	Schedule	d Maintenance	JLIMPAG	183	32
Туре	Parts/Mechanics	Date	Description	Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
Labour	JLIMPAG	29/11/2017	Carry Out General Travel whilst on job	1.50	0		\$0.00	SM		160610SI	146539
Labour	JLIMPAG	29/11/2017	Carry Out Service Inspection	1.00	0		\$0.00	SM		160610SI	146540
Labour	JLIMPAG	29/11/2017	Diagnose Air Conditioning Aircon/Heating	1.00	0		\$0.00	SM		160610SI	146542
Labour	JLIMPAG	29/11/2017	Diagnose Park Brake Caliper Brakes	0.50	0		\$0.00	SM		160610SI	146543
Labour	JLIMPAG	29/11/2017	Replace Fuse Box Electrical general	1.00	0		\$0.00	SM		160610SI	146541
				Jo	b Total:		\$0.00				

Note : Job Created by FSM technician

Carry Out General Travel whilst on job

Carry Out Service Inspection as per Checklist

Replace Fuse Box Electrical general

Diagnose Air Conditioning Aircon/Heating

Diagnose Park Brake Caliper Brakes

repair machine won't start issue, replace corroded fuse box, troubleshoot A.C cool issue, repair door latch, check park brake issue, function test. last engine svc 1807.

89445	Machhne needs hyd	Machhne needs hyd repairs and new I Internal Omega		2/11/2017 BHPNICKELS		Repairs & Maintenance	1606SCE	1807	
Туре	Parts/Mechanics	Date	Description	Qty	Discount	Retail Reason	Warranty Expiry	SA Code	PO/TS No
Labour	TTIMU	11/01/2018	Carry Out General Travel whilst on job	1.00	0	\$0.00 RM		160610SI	163840
Labour	TTIMU	11/01/2018	Labour Other Other	1.00	0	\$0.00 RM		160610SI	163839
				Job	Total:	\$0.00			

Note : Machhne needs hyd repairs and new header tank for coolant

Labour Other Other

Carry Out General Travel whilst on job

Job Code	Description		Job Type	Job Category	Service	Date	Cust. Code	Call Reaso	n	Mechanic	Hour Me	ter Inv. No
89444	500hr service		Internal	Omega	2/11/201	17	BHPNICKELS	Preventati	ve Maintenanc	e 1606SCE	11	807
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
								\$0.00				
					Jo	b Total:		\$0.00				
Note : 500hr se	ervice dne											
33071	Safety Inspection		Inspection	м	2/11/201	17		Inspection		1606SCE	18	807
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
			Rate change a 27/7/2016	as from	2.00			\$0.00				
					Jo	b Total:		\$0.00				
75131	service Insp		Internal	Omega	26/08/20)17	BHPNICKELS	Scheduled	Maintenance	JLIMPAG	17	'44
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
Labour	JLIMPAG	26/08/2017	Carry Out Ger	neral Travel to	0.40	0		\$0.00	SM		160610SI	94822
Labour	JLIMPAG	26/08/2017	site Carry Out Ser Inspection	vice Inspection	1.00	0		\$0.00	SM		160610SI	94823
			mepeenen		Jo	b Total:		\$0.00				
Note : Job Crea	ated by FSM technician											
Carry Out Gen	eral Travel to site											
Carry Out Serv	vice Inspection as per Checkli	st										
top-up hydrauli	ic oil, function test.											
59881	Service Job for reco	rding last service	Internal	Omega	10/04/20	017	ONSITE	Scheduled	Maintenance	JGLOVER	1	666
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
Part	NPN	10/04/2017	Service Job cr Converted) fro reading.	``	1.00	0		\$0.00	SM		160610PD	
			i ouunig.		Jo	b Total:		\$0.00				
Note : Service	Job created (Data Converted) from last meter re	ading.									
59519	Service Job for reco	rding last service	Internal	Omega	10/04/20	017	ONSITE	Scheduled	Maintenance	JGLOVER	1	666
Туре	Parts/Mechanics	Date	Description		Qty	Discount		Retail	Reason	Warranty Expiry	SA Code	PO/TS No
Part	NPN	10/04/2017	Service Job cr Converted) fro	``	1.00	0		\$0.00	SM		160610PD	
			reading.									

Note : Service Job created (Data Converted) from last meter reading.

Job Code	Description		Job Type	Job Category	Service	Date	Cust. Code	Call Reason		Mechanic	Hour Meter	Inv. No
59183	Service Job for reco	rding last service	Internal	Omega	10/04/20)17	ONSITE	Scheduled M	laintenance	JGLOVER	1566	
Туре	Parts/Mechanics	Date	Description		Qty	Discoun	t	Retail Re	eason	Warranty Expiry	SA Code	PO/TS No
Part	NPN	10/04/2017	Service Job c Converted) fr reading.	created (Data om last meter	1.00	0		\$0.00 SM	М		160610PD	
					Jo	b Total:		\$0.00				
Note : Service J	ob created (Data Converted) from last meter re	ading.									
58821	Service Job for reco	rding last service	Internal	Omega	10/04/20)17	ONSITE	Scheduled N	laintenance	JGLOVER	1566	
Туре	Parts/Mechanics	Date	Description		Qty	Discoun	t	Retail Re	eason	Warranty Expiry	SA Code	PO/TS No
Part	NPN	10/04/2017	Service Job c Converted) fr reading.	created (Data rom last meter	1.00	0		\$0.00 SM	M		160610PD	
			· · · · · · · · · · · · · · · · · · ·		Jo	b Total:		\$0.00				
Note : Service J	ob created (Data Converted) from last meter re	ading.					• • • •				
32993	Service Job for reco	rding last service	Internal	Omega	16/11/20)16	ONSITE	Scheduled N	laintenance	JGLOVER		
Туре	Parts/Mechanics	Date	Description		Qty	Discoun	t	Retail Re	eason	Warranty Expiry	SA Code	PO/TS No
Part	NPN	16/11/2016	Service Job o Converted) fr reading.	created (Data rom last meter	1.00	0		\$0.00 SM	М		160610PD	
					Jo	b Total:		\$0.00				
Note : Service J	ob created (Data Converted) from last meter re	ading.									
27156	Service Job for reco	rding last service	Internal	Omega	16/11/20	016	ONSITE	Scheduled N	laintenance	JGLOVER		
Туре	Parts/Mechanics	Date	Description		Qty	Discoun	t	Retail Re	eason	Warranty Expiry	SA Code	PO/TS No
Part	NPN	16/11/2016	Service Job c Converted) fr reading.	created (Data rom last meter	1.00	0		\$0.00 SM	М		160610PD	
					Jo	b Total:		\$0.00				
Note : Service J	ob created (Data Converted) from last meter re	ading.									
					•							
					Gran	d Total:		\$0.00				